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EDUCATION
( Major )
Paper : 5.5

( Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks / Answer the following :
1%7=7
e APz e o o9 41 / T f -
fa) The measure of variability independent
of frequencies of the given distribution
is 5

ows Reqqd IR oorye Rpfet @y

x|
(b) The value of coefficient of correlation of
two variables varies between and

WO TAIE W HEE BRFI A
=l TS TS 2 |
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(2)

(c) In normal distribution, mean and tlo
includes % of total scores.

yofie Res| % F +lo-9 L MW
% OEye (A |

(d) If mean is less than median, the
distribution is skewed.

TS 8 N 20 Rege| REwer
LSl

(e} A student ranks 6th in a class of
40 students. Find out the PR of the
student in the class.

951 40 & TAYF IS g&a @2 T T S
3fdtz | e TaeeE PR e <541 |

(1 In a class of 19 students, 8 students
has failed in an examination. The marks
of the successful students are 41, 57,
61, 48, 56, 62, 75, 82, 72, 68 and 64.
Find out median mark of the class.
19 & TGS 451 IS @B ~[FS 8 & TG
SFeI T | PR (@ WP TAPER
tz= 41, 57, 61, 48, 56, 62, 75, 82, 72,
68 WF 64. CITGR T T g 00

(g) Why is histogram called continuous bar
graph?

wEecTes &1 Sfben walta 4+ o =2
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(3)

2. Answer the following questions : 2x4=8

T eEPTRA Ted fore

(a) Mention two advantages of frequency
distribution table. 3

AR [Fore wiferwd 761 Hf{ar Seary w4 |

(b) Distinguish between product-moment
correlation and rank-difference correla-
tion.

A RIS TR TE - DT
TS (120 TS |

fc/ In Group (4), N=40, M=20 and
SD=10 and in Group (B), N =60,
M= 10 and SD = 5. Find out combined
SD of Group (A) and (B).

(A) W1 N =40, M =20 9% SD = 10, 9%
(B) ™ N =60, M =10 ¥ SD = 5. 7 (4)
WF (B)F ¥gE T [{pife fefy 397 |

(d) Write two important properties of a
normal probability curve.

RS Road 799 o sF99d w9 91 @hiE
fer=i |
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(4)

3. Answer any three of the following questions :
5x3=15
wors i e i e fofor Tes frd -

(a) What is meant by statistics? What are
the limitations of statistical measure-

ment? 2+3=5
Ay Rem e o ARTRE
e SRaerRR f 2

(bp) What is standard deviation? ‘Why is
standard deviation regarded superior to

other measures of variability? Explain.
2+3=5

yee Rpfs R0 Rpfes surm (ol
T fpfes o Tl I Reavn = =2
T A1

(]

(¢ What is meant by percentile point and
percentile ~ rank?  Illustrate their
difference with examples. 2+3=5

o i o o ¥ qfA FogEme
TP 229 SN M4 T 0|
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(5)

{d) What is correlation? Ranking of
10 students in two subjects A and B are
as follows :

T 2 10 & 2143 Ray A w1e B-w =i/s
T EPHZ oo ] 4999 :

A:35847102169
B:64952103187

Find out coefficient of correlation
between the marks of the subjects A
and B by rank-difference method. 1+4=5

FE-4E o B A wF By e
Q15 T 41

fe) Mention two advantages of graphical
presentation of data. How does a
histogram differ from a polygon?
Explain. 2+3=5

@rfoam M w2 AReerE o1 SR Seay
TN G5 qTHER | <GB wwerwg e
2 2 T 4T |

(f) Explain the concept of Kurtosis by
drawing different types of Kurtosis.
Explain the nature of a curve with

Ku = 0-563. 4+1=5
RfSn oera 337 Ta B o w7 39 <9
AT 401 9 | Ku = 0-563 J& «qore] 74
2l 1 341 |
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(6)

4. What is mean? Find out mean of the
following distribution by ‘assumed mean
method’ : 2+8=10
51 57 e 5% ARfe’d ©IR OIfeeR o[l TS
foiefa 41 ¢

Class Interval Frequency
N wETE RTT
55-59 , 4
50-54 l 8
45-49 i 10
4044 12
35-39 T
30-34 8
25-29 6
20-24 3
15-19 2
N =60
Or / 9241
What is quartile deviation? Find out quartile
deviation from the following table : 2+8=10

veds Rpfe &7 oom ifeR @ vpde Rpfe
foref 0

Class Interval | Frequency

gkl LTS
90-99 4
80-89 7
70-79 i 9
60-69 | 12
50-59 4
40-49 | 10
30-39 1 9
20-29 { 5
| N=60
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(7))

5. What is product-moment correlation?
Calculate coefficient of correlation from the

following data by this method : 2+8=10
AOR-ACTD T 7 S wUpiRy M @k
TafOCT TR B fefg 5

6 8 12 15 18 20 24 28 31
¥ o 10 12 15 L1 18 25 22 26 28

Or / 9341

In an examination, mean marks scored by
400 students is 45 with a standard deviation
of 15. Assuming the distribution to be
normal, find out the following : 5+5=10

(a) The number of students securing marks
between 30 and 60

(b} The limits of the marks of middle 50% of
the student

b1 “RIPIS 400 AR S T THIW I (2T 45
IF TF R Gz 15, Revr e 3 o
TS fraprg frefy 3

(a) 30 IF 60 I TS I59 ([ =T 73270

(b) CINEE 50% BEq 7599 J
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(8)

6. Draw an ogive from the following distribution
table and find out median from it : 8+2=10
o [Roqe SIfeE o[ bl SSES S FE @
YR AT NI el 90

Class Interval Frequency
1) S TR

60-64 3
55-59 5
50-54 4
45-49 6
40-44 8
35-39 10
30-34 6
25-29 i
2024 1

N =50

Or / 91

What is skewness? Test the skewness of the
above distribution. 2+8=10

e & 2 oy e Ramer 3 991 |

* K

8A—7000/227 3 (Sem-5) EDN M 5



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

